NINGBO EASTERN FLUID CONNECTOR MACHINERY FACTORY

INDEX
P/N

10311(O-RING METRIC MALE FLAT SEAL) ..o e e
20211(METRIC FEMALE FLAT SEAT) ..o e
20241 (45°METRIC FEMALE FLAT) ...t e e e e e e e e
20291(90°METRIC FEMALE FLAT SEAT) ... it e e e e
10611(METRIC MALE DOUBLE USE FOR 60° CONE).......ccooiiiiiiiiiii e
20611(METRIC FEMALE 60° CONE)......uiiii i e e e e e e
20641(45°METRIC FEMALE 60° CONE)....coimiiii i e e
20691(90°METRIC FEMALE 60° CONE) ..ottt e
20111(METRIC FEMALE MULTISEAL) ...t e e e e
20141(45° METRIC FEMALE MULTISEAL) ......ouniiie e e
20191(90° METRIC FEMALE MULTISEAL).......iviiiii i e
10711(GB METRIC MALE 74° CONE)....coimtiiii i e
20711(GB METRIC FEMALE 74° CONE SEAT)......oiiiiiiiii e
20741(45° GB METRIC FEMALE 74° CONE SEAT) ..ot
20791(90° GB METRIC FEMALE 74° CONE SEAT).....coiiiiiii e,
10711L(METRIC MALE 90° CONE SEAT) ..ot e e
10411(METRIC MALE 24° CONE SEAT LT) .o
20411(METRIC FEMALE 24° CONE O-RING L.T).c.ouiiiiiiiiiiiiiiiii e
20441(45°METRIC FEMALE 24° CONE O-RING L.T)...cooviiiiiiiiiiiiiiiie e,

20491(90°METRIC FEMALE 24° CONE O-RING L.T)...ccviiiiiiiiiiiiiii e

PAGE

10
A1
12
.13

15

............... 16

17

................ 18

20

21

22

............... 23



NINGBO EASTERN FLUID CONNECTOR MACHINERY FACTORY

20511(METRIC FEMALE 24° CONE O-RING H.T) .ot
20541(45° METRIC FEMALE 24° CONE O-RING H.T)...ooviiiiiiiiii e
20591(90° METRIC FEMALE 24° CONE O-RING H.T)....coooiiiiiiiiiii
20411C(METRIC FEMALE 24°MULTISEAL L.T).ouui i e e
20491C(90° METRIC FEMALE 24°MULTISEAL L.T) ..ot e e
20511C(METRIC FEMALE 24°MULTISEAL H.T) oo e,
20541C(45° METRIC FEMALE 24°MULTISEAL H.T) oo
20011(METRIC FEMALE WATERWASH INSERT) ...t
18611(JIS METRIC MALE 60° CONE SEAT).....oiii e
28611(JIS METRIC FEMALE 60° CONE SEAT)......cciiiiiii e
28641(45° JIS METRIC FEMALE 60° CONE SEAT).....cccoviiiiiiie
28691(90° JIS METRIC FEMALE 60° CONE SEAT) ...
70011(METRIC BANJO DIN 7642) ... ot e e e e e
7O0M(METRIC BOLT DIN 7643) ... it it e e e e e e
50011(METRIC STANDPIPE STRAIGHT DIN 2553)....ccciiiiiiiiiiin,
50041(45° METRIC STANDPIPE STRAIGHT DIN 2553)......ccciiiiiiiiie,

50091(90° METRIC STANDPIPE STRAIGHT DIN 2553)......ccciiiiiiiiiie,

29

30

.32

.33

34

.35

.36

.36

............. 37

............. 38

............. 39

40

41

42

............. 43

44

46



NINGBO EASTERN FLUID CONNECTOR MACHINERY FACTORY

10311

NHIIMRSEFHE O FBIEE

O-RING METRIC MALE FLAT SEAL

REF.JB/T 988

K5 1B E #;E HOSE BORE R~ DIMENSIONS

P/N THREAD E AFRAR DN | #55 DASH A C S1
10311-12-04 | M12x1.25 6 04 225 10 14
10311-14-04 | M14x15 6 04 235 11 17
10311-16-04 | M16x1.5 6 04 23.5 11 17
10311-16-05 | M16x1.5 8 04 23.5 11 17
10311-16-06 | M16x1.5 10 06 23.5 11 17
10311-18-06 | M18x1.5 10 06 23.5 11 19
10311-22-05 | M22x1.5 8 05 27 12 22
10311-22-06 | M22x1.5 10 06 26 12 22
10311-22-08 | M22x1.5 12 08 26.5 12 22
10311-27-10 | M27x1.5 16 10 31.5 13 27
10311-30-12 | M30x1.5 20 12 33.5 14 32
10311-36-12 | M36x2 20 12 35.5 16 38
10311-36-14 | M36x2 22 14 35.5 16 38
10311-39-16 | M39x2 25 16 39 16 41
10311-45-20 | M45x2 32 20 445 20 46
10311-52-24 | M52x2 40 245 475 22 55
10311-64-32 | M64x2 50 32 52.5 27 65

Note:

1. For use with braided hoses.

2. If use with spiral hose, hose fitting series number is 10312-x x-x x




NINGBO EASTERN FLUID CONNECTOR MACHINERY FACTORY

NHIIRSSEE

METRIC FEMALE FLAT SEAT

20211 20211-T

(iR=s 1= E & HOSE BORE R~ DIMENSIONS

P/N THREAD E SRR DN | #72 DASH A C S1
20211-10-02 M10X1 4 02 14 6 14
20211-10-04 M10X1 6 04 14.5 6 14
20211-12-04 M12X1.25 6 04 15 8 17
20211-14-04 M14X1.5 6 04 15.5 8.5 19
20211-16-04 M16X1.5 6 04 16.5 8 22
20211-16-06 M16X1.5 10 06 16.5 8 22
20211-18-04T M18X1.5 6 04 16 8 22
20211-18-05 M18X1.5 8 05 17.5 8 24
20211-18-06 M18X1.5 10 06 17.5 8 24
20211-18-08 M18X1.5 12 08 18 8 24
20211-20-06T M20X1.5 10 06 16 10 24
20211-20-08 M20X1.5 12 08 18.5 10 27
20211-22-04T M22X1.5 6 04 16 10 27
20211-22-05T M22X1.5 8 05 16 10 27
20211-22-06T M22X1.5 10 06 16 10 27
20211-22-08 M22X1.5 12 08 18.5 10 27
20211-22-10 M22X1.5 16 10 19.5 10 27
20211-24-06T M24X1.5 10 06 16 11 30
20211-24-08T M24X1.5 12 08 16.5 11 30
20211-24-10 M24X1.5 16 10 20.5 10.5 30
20211-27-05T M27X1.5 8 05 18 10 32
20211-27-08T M27X1.5 12 08 18.5 10 32




NINGBO EASTERN FLUID CONNECTOR MACHINERY FACTORY

20211-27-10 M27X1.5 16 10 215 10 32
20211-27-12 M27X1.5 20 12 215 10 32
20211-30-08T M30X1.5 12 08 175 11 36
20211-30-12 M30X1.5 20 12 215 11 36
20211-33-12T M33X2 20 12 20 13 41
20211-33-14 M33X2 22 14 215 13 41
20211-33-16 M33X2 25 16 23 13 41
20211-36-06T M36X2 10 06 20.5 13 41
20211-36-12T M36X2 20 12 20 13 41
20211-36-14T M36X2 22 14 20 13 41
20211-36-16 M36X2 25 16 23 13 41
20211-39-16T M39X2 25 16 235 13 46
20211-39-20 M39X2 32 20 26 13 46
20211-42-12T M42X2 20 12 2255 15 50
20211-42-16T M42X2 25 16 235 15 50
20211-42-20 M42X2 32 20 26 15 50
20211-45-16T M45X2 25 16 24 15 55
20211-45-20T M45X2 32 20 25 15 55
20211-52-12T M52X2 20 12 23.5 17 60
20211-52-20T M52X2 32 20 25 17 60
20211-52-24T M52X2 40 24 25 17 60
20211-60-24T M60X2 40 24 26 20 70
20211-60-28T M60X2 45 28 26 20 70
20211-60-32 M60X2 50 32 27 20 70
20211-60-40 M60X2 64 40 30 20 70
20211-64-24T M64X2 40 24 26 23 75
20211-64-32T M64X2 50 32 26 23 75

Note:

1. For use with braided hoses.

2. If use with spiral hose, hose fitting series number is 20212-x x -x x




NINGBO EASTERN FLUID CONNECTOR MACHINERY FACTORY

A5° N HIPIRSCFEEE
e .
NN 45 ° METRIC FEMALE FLAT
3 o SEAT REF.GB/T 9065.3
20241 202417

K= 1B E #E& HOSE BORE R~ DIMENSIONS

P/N THREAD E NFRAZ DN | /55 DASH | A C H s1
20241-14-04 M14X1.5 6 04 40.5 85| 185 19
20241-14-05 M14XL1.5 8 05 427 | 85 | 193 19
20241-16-05 M16XL1.5 8 05 444 | 85 20 22
20241-18-06 M18XL.5 10 06 457 8 | 214 24
20241-22-08 M22X1.5 12 08 58.9 10 24 27
20241-27-10 M27XL1.5 16 10 71.2 10 | 264 32
20241-30-12 M30XL.5 20 12 78.1 11 30 36
20241-36-12T M36X2 20 12 75 13 | 275 41
20241-36-14T M36X2 22 14 77.3 13 27 41
20241-36-16 M36X2 25 16 85.7 13 | 315 41
20241-39-16T M39X2 25 16 83.9 13 | 297 46
20241-42-20 M42X2 32 20 97.3 15 | 366 50
20241-45-20T M45X2 32 20 94.5 15 | 33.8 55
20241-52-20T M52X2 32 20 94.5 17 | 338 60
20241-52-24T M52X2 40 24 1085 | 17 | 377 60
20241-60-28T M60X2 45 28 1187 | 20 | 436 70
20241-60-32 M60X2 50 32 1321 | 20 | 491 70
20241-64-32T M64X2 50 32 1278 | 23 | 456 75

Note:

1. For use with braided hoses.

2. If use with spiral hose, hose fitting series number is 20242-x x - x x




NINGBO EASTERN FLUID CONNECTOR MACHINERY FACTORY

20291T

REF.GB/T 9065.3

90° A\ PR P ET

90 ° METRIC FEMALE FLAT SEAT

K= 12 E #®E HOSE BORE R~ DIMENSIONS

P/N THREAD E 2NFRW#R DN | #72 DASH A C H s1
20291-12-02 M12X1.25 4 02 26.5 8 30.5 17
20291-12-04 M12X1.25 6 04 30 8 33.5 17
20291-14-04 M14X1.5 6 04 30 8.5 34 19
20291-14-05 M14X1.5 8 05 33 8.5 37 19
20291-16-04 M16X1.5 6 04 30 8 35 22
20291-16-05 M16X1.5 8 05 34 8 38 22
20291-16-06 M16X1.5 10 06 35.3 8 403 22
20291-18-05 M18X1.5 8 05 33 8 39 24
20291-18-06 M18X1.5 10 06 35.75 8 413 24
20291-22-05T M22X1.5 8 05 33 10 | 365 27
20291-22-06T M22X1.5 10 06 35.3 10 | 388 27
20291-22-08 M22X1.5 12 08 41 10 48 27
20291-22-10 M22X1.5 16 10 57.5 10 53 27
20291-22-12 M22X1.5 20 12 65.5 10 62 27
20291-24-08T M24X1.5 12 08 41 11 | 455 30
20291-27-04T M27X1.5 6 04 30 10 | 355 32
20291-27-08T M27X1.5 12 08 41 10 46 32
20291-27-10 M27X1.5 16 10 56.5 10 54 32
20291-30-12 M30X1.5 20 12 66.2 11 | 635 36
20291-33-14 M33X2 22 14 71.2 13 65 41
20291-36-12T M36X2 20 12 65.5 13 60 41




NINGBO EASTERN FLUID CONNECTOR MACHINERY FACTORY

20291-36-14T M36X2 22 14 71.2 13 61 41
20291-36-16 M36X2 25 16 76.7 13 70 41
20291-39-16T M39X2 25 16 76.7 13 67.5 46
20291-42-16T M42X2 25 16 78 15 67.5 50
20291-42-20 M42X2 32 20 91.5 15 82.5 50
20291-45-20T M45X2 32 20 91.5 15 78.5 55
20291-52-20T M52X2 32 20 91.5 17 78.5 60
20291-52-24T M52X2 40 24 109.4 17 92 60
20291-52-32 M52X2 50 32 131.75 17 118.3 60
20291-60-28T M60X2 45 28 119.9 20 106.5 70
20291-64-32T M64X2 50 32 130.95 23 113.3 75
Note: 1. For use with braided hoses.

2. If use with spiral hose, hose fitting series number is 20292-x x - x x




NINGBO EASTERN FLUID CONNECTOR MACHINERY FACTORY

10611

NHIAMREC 60° KRS, NFiREAE

PUEEEE-SS

AdhER
S

EJ[EN

Sl METRIC MALE DOUBLE USE FOR 60° CONE
SEAT OR BOUNDED SEAL

A= 124 E #& HOSE BORE R<F DIMENSIONS

P/N THREAD E FRWE DN | #-2 DASH A C s1
10611-14-04 M14X1.5 6 04 23.5 11 19
10611-16-05 M16X1.5 8 05 26.5 12 22
10611-18-06 M18X1.5 10 06 29.5 12 24
10611-22-06 M22X1.5 10 06 30.5 14 27
10611-22-08 M22X1.5 12 08 32 14 27
10611-24-10 M24X1.5 16 10 35 14 30
10611-26-10 M26X1.5 16 10 35 16 32
10611-30-12 M30X1.5 20 12 39 18 36
10611-38-16 M38X1.5 25 16 44 20 46
10611-45-20 M45X1.5 32 20 46 20 55
10611-52-24 M52X1.5 40 24 46 20 60

Note:

1. For use with braided hoses.

2. If use with spiral hose, hose fitting series number is 10612-x x-x x




NINGBO EASTERN FLUID CONNECTOR MACHINERY FACTORY

A

& 4 o F@}G
5-:-'[>—J‘ so°[> k ——

- : AHFMEL 60° AR

td"{sz 52 METRIC FEMALE 60° CONE

20611 20611T

K= 1B E #®E HOSE BORE R~} DIMENSIONS

P/N THREAD E NFRRZE DN | 52 DASH | A C S2
20611-14-04 M14X1.5 6 04 18 5.5 19
20611-16-05 M16X1.5 8 05 19 5.5 22
20611-16-06 M16X1.5 10 06 19 5.5 22
20611-18-06 M18X1.5 10 06 20 5.5 24
20611-20-08 M20X1.5 12 08 22 6.5 27
20611-22-08 M22X1.5 12 08 22.5 6 27
20611-24-10 M24X1.5 16 10 24.5 6.5 30
20611-26-10 M26X1.5 16 10 25.5 6 32
20611-27-10 M27X1.5 16 10 25.5 6 32
20611-30-10 M30X1.5 16 10 26.5 6 36
20611-30-12 M30X1.5 20 12 26.5 6 36
20611-36-16 M36X2 25 16 30 6.5 41
20611-39-16T M39X2 25 16 30 6.5 46
20611-45-20T M45X2 32 20 31 8.5 55
20611-52-24T M52X2 40 24 32 10 60

Note: 1. For use with braided hoses.

2. If use with spiral hose, hose fitting series number is 20612-x x - x x




NINGBO EASTERN FLUID CONNECTOR MACHINERY FACTORY

45° 2 THIFMES 60° AHEH

45 ° METRIC FEMALE 60 °

CONE

20641 20641T

K5 1B E #®E HOSE BORE R~ DIMENSIONS

P/N THREAD E AFRA4E DN | 55 DASH A C H 2
20641-14-04 M14X1.5 6 04 427 5.5 20.6 19
20641-16-05 M16X1.5 8 05 451 5.5 21.8 22
20641-18-06 M18X1.5 10 06 47.4 5.5 23.2 24
20641-22-08 M22X1.5 12 08 61.8 6 26.8 27
20641-27-10 M27X1.5 16 10 74 6 29.2 32
20641-30-12 M30X1.5 20 12 81.6 6 33.5 36
20641-36-14T M36X2 22 14 81.9 6.5 31.6 41
20641-39-16T M39X2 25 16 88.5 6.5 34.3 46
20641-45-20T M45X2 32 20 99.1 8.5 38.4 55
20641-52-24T M52X2 40 24 113.4 10 | 427 60

Note:

1. For use with braided hoses.

2. If use with spiral hose, hose fitting series number is 20642-x x - x x

-11 -



NINGBO EASTERN FLUID CONNECTOR MACHINERY FACTORY

90° R HIFMRLL 60° I

90°METRIC FEMALE 60° CONE

20691T

(=) B E #E& HOSE BORE R~ DIMENSIONS

P/N THREAD E AFRA4E DN | 55 DASH A C H 2
20691-14-04 M14X1.5 6 04 30 5.5 37 19
20691-16-05 M16X1.5 8 05 33 55 | 405 22
20691-18-06 M18X1.5 10 06 35.3 55 | 438 24
20691-22-08 M22X1.5 12 08 41 6 52 27
20691-27-10 M27X1.5 16 10 56.5 6 58 32
20691-30-12 M30X1.5 20 12 66.2 6 68.5 36
20691-36-16 M36X2 25 16 78 65 | 765 41
20691-36-14T M36X2 22 14 71.2 6.5 67.5 41
20691-39-16T M39X2 25 16 76.7 6.5 74 46
20691-45-20T M45X2 32 20 91.5 8.5 85 55
20691-52-24T M52X2 40 24 109.4 10 99 60

Note: 1. For use with braided hoses.

2. If use with spiral hose, hose fitting series number is 20692-x x - x x

-12 -



NINGBO EASTERN FLUID CONNECTOR MACHINERY FACTORY

C A C A
L“ s N RIBEERTE
‘_EU—UJLM METRIC FEMALE MULTISEAL
2
20111 20111T
=5 AV e HOSE BORE R~ DIMENSIONS
P/N THREAD E AR DN | #-2 DASH A C s1
20111-10-03 M10X1 5 03 18 2.5 14
20111-10-04 M10X1 6 04 18 2.5 14
20111-12-02 M12X1.5 4 02 18 4 17
20111-12-03 M12X1.5 5 03 18 4 17
20111-12-04 M12X1.5 6 04 18.5 4 17
20111-12-05 M12X1.5 8 05 18.5 4 17
20111-14-04 M14X1.5 6 04 19.5 45 19
20111-14-05 M14X1.5 8 05 19.5 45 19
20111-16-04 M16X1.5 6 04 195 4.5 22
20111-16-05 M16X1.5 8 05 20 45 22
20111-16-06 M16X1.5 10 06 20 45 22
20111-18-05 M18X1.5 8 05 215 4 24
20111-18-06 M18X1.5 10 06 215 4 24
20111-18-08 M18X1.5 12 08 22 4 24
20111-20-06T M20X1.5 10 06 20.5 5.5 24
20111-20-08 M20X1.5 12 08 23 5.5 27
20111-22-06 M22X1.5 10 06 23 5 27
20111-22-08 M22X1.5 12 08 23.5 5 27
20111-22-10 M22X1.5 16 10 24.5 5 27
20111-24-08T M24X1.5 12 08 22 5.5 30
20111-24-10 M24X1.5 16 10 26 5 30




NINGBO EASTERN FLUID CONNECTOR MACHINERY FACTORY

20111-26-08T M26X1.5 12 08 23 5.5 32
20111-26-10 M26X1.5 16 10 26 5.5 32
20111-26-12 M26X1.5 20 12 26 5.5 32
20111-27-08T M27X1.5 12 08 23 5.5 32
20111-27-10 M27X1.5 16 10 26 5.5 32
20111-27-12 M27X1.5 20 12 26 5.5 32
20111-30-12 M30X1.5 20 12 26.5 6 36
20111-30-14 M30X1.5 22 14 26.5 6 36
20111-33-12T M33X2 20 12 26 7 41
20111-33-14 M33X2 22 14 27.5 7 41
20111-36-12T M36X2 20 12 26 7 41
20111-36-14T M36X2 22 14 26 7 41
20111-36-16 M36X2 25 16 29 7 41
20111-39-14T M39X2 22 14 28.5 7 46
20111-39-16T M39X2 25 16 29.5 7 46
20111-39-20 M39X2 32 20 30.5 7 46
20111-42-16T M42X2 25 16 30 8.5 50

Note:

1. For use with braided hoses.

2. If use with spiral hose, hose fitting series number is 20112-x x-x x

-14 -



NINGBO EASTERN FLUID CONNECTOR MACHINERY FACTORY

H
i

45° I IRSIEKE

45° METRIC FEMALE MULTISEAL

20141 20141T

K5 1B E #®E HOSE BORE R~ DIMENSIONS

P/N THREAD E AFRA4E DN | 55 DASH A C H 2
20141-10-03 M10X1 5 03 41.1 2.5 20.7 14
20141-14-04 M14X1.5 6 04 434 45 21.3 19
20141-16-05 M16X1.5 8 05 45.8 45 22.5 22
20141-18-06 M18X1.5 10 06 48.5 4 24.2 24
20141-22-08 M22X1.5 12 08 62.1 5 27.2 27
20141-26-10 M26X1.5 16 10 74.4 5.5 29.6 32
20141-26-12 M26X1.5 20 12 80.6 5.5 33.2 32
20141-27-10 M27X1.5 16 10 74.4 5.5 29.6 32
20141-30-12 M30X1.5 20 12 80.9 6 335 36
20141-36-14T M36X2 22 14 83 7 32.64 41
20141-39-16T M39X2 25 16 88.2 7 33.95 46
20141-45-20T M45X2 32 20 99.1 8.5 38.4 55
20141-52-24T M52X2 40 24 114.1 9 434 60

Note:

1. For use with braided hoses.

2. If use with spiral hose, hose fitting series number is 20142-x x-x x

-15 -



NINGBO EASTERN FLUID CONNECTOR MACHINERY FACTORY

A

Py

ﬁ ,.-*:-'
A
/

90° ATHIRIRSEKE

90° METRIC FEMALE MULTISEAL

20191T

K5 12 E #;E HOSE BORE R~ DIMENSIONS

P/N THREAD E AFRA1E DN | #x5 DASH A C H 2
20191-10-03 M10X1 5 03 27 2.5 35.5 14
20191-12-03 M12X1.5 5 03 26.5 4 34.5 17
20191-12-04 M12X1.5 6 04 30 4 37.5 17
20191-14-04 M14X1.5 6 04 30 4.5 38 19
20191-16-05 M16X1.5 8 05 33 4.5 41.5 22
20191-18-06 M18X1.5 10 06 35.3 4 453 24
20191-20-06T M20X1.5 10 06 35.3 5.5 448 24
20191-20-08 M20X1.5 12 8 41 5.5 52 27
20191-22-08 M22X1.5 12 08 41 5 52.5 27
20191-26-10 M26X1.5 16 10 56.5 5.5 58.5 32
20191-27-10 M27X1.5 16 10 56.5 5.5 58.5 32
20191-30-12 M30X1.5 20 12 67.5 6 68.5 36
20191-36-12T M36X2 20 12 65.5 7 68 41
20191-36-14T M36X2 22 14 71.2 7 69 41
20191-39-16T M39X2 25 16 76.7 7 73.5 46
20191-45-20T M45X2 32 20 91.5 8.5 85 55
20191-52-24T M52X2 40 24 109.4 9 100 60
20191-64-32T M64X2 50 32 131.75 14 1223 75

Note:

1. For use with braided hoses.

2. If use with spiral hose, hose fitting series number is 20192-x x-x x

-16 -



NINGBO EASTERN FLUID CONNECTOR MACHINERY FACTORY

10711
EFRAHISMRL 74°5MEE

i ﬁlﬂ:@[ GB METRIC MALE 74° CONE
51 REF.GB/T 5623

K5 12 E #®E HOSE BORE R~ DIMENSIONS

P/N THREAD E AFRA1E DN | #x5 DASH A C s1
10711-10-02 M10X1 4 02 23 12.5 14
10711-10-03 M10X1 5 03 23 12.5 14
10711-12-03 M12X1.5 5 03 26.5 15.7 14
10711-12-03C M12X1.25 5 03 24.5 14 14
10711-14-04 M14X1.5 6 04 30.5 18 17
10711-14-06 M14X1.5 10 06 30.5 18 17
10711-16-05 M16X1.5 8 05 31.5 19 17
10711-16-06 M16X1.5 10 06 31.5 19 17
10711-18-06 M18X1.5 10 06 31.5 19 19
10711-22-08 M22X1.5 12 08 35 19.5 24
10711-24-08 M24X1.5 12 08 37 20 27
10711-27-10 M27X1.5 16 10 38.5 20.5 30
10711-30-12 M30X1.5 20 12 425 23 32
10711-30-12E M30X2 20 12 455 26 32
10711-33-12 M33X2 20 12 45 26 36
10711-36-14 M36X2 22 14 45 26 38
10711-39-16 M39X2 25 16 48 27.5 41
10711-42-20 M42X2 32 20 52 28.5 46
10711-45-20 M45X2 32 20 52 28.5 46

Note: 1. For use with braided hoses.

2. If use with spiral hose, hose fitting series number is 10712-x x-x x




NINGBO EASTERN FLUID CONNECTOR MACHINERY FACTORY

20711
EFRATH IR 74°

2.
=
I |i“:.rfj'.frr.r.rd- A o o O 5

.

E‘E‘L_“..._._“_
I

GB METRIC FEMALE 74° CONE SEAT

)
REF.GB/T 9065.1
20711 20711-T
A= 247 E #& HOSE BORE R<F DIMENSIONS
P/N THREAD E FRW#R DN | #x2 DASH A C S2

20711-10-02 M10X1 4 02 14 7.5 14
20711-10-04 M10X1 6 04 145 7.5 14
20711-12-02C |  M12X1.25 4 02 14 9 17
20711-12-03C | M12X1.25 5 03 14 9 17
20711-12-05C |  M12X1.25 8 05 14.5 9 17
20711-12-03 M12X1.5 5 03 14 10 17
20711-12-04 M12X1.5 6 04 145 10 17
20711-14-04 M14X1.5 6 04 15.5 8.5 19
20711-14-05 M14X1.5 8 05 15.5 8.5 19
20711-14-06 M14X1.5 10 06 15.5 8.5 19
20711-16-04 M16X1.5 6 04 16.5 8 22
20711-16-05 M16X1.5 8 05 16.5 8 22
20711-16-06 M16X1.5 10 06 16 8 22
20711-18-04T M18X1.5 6 04 16 8 22
20711-18-05T M18X1.5 8 05 16 8 22
20711-18-06 M18X1.5 10 06 17.5 10 24
20711-20-06T M20X1.5 10 06 16 10 24
20711-20-08 M20X1.5 12 08 18.5 10 27
20711-22-05T M22X1.5 8 05 16 10 27
20711-22-06T M22X1.5 10 06 16 10 27
20711-22-08 M22X1.5 12 08 18.5 10 27




NINGBO EASTERN FLUID CONNECTOR MACHINERY FACTORY

20711-22-10 M22X1.5 16 10 19.5 10 27
20711-22-12 M22X1.5 20 12 20 10 27
20711-24-06T M24X1.5 10 06 16 11 30
20711-24-08T M24X1.5 12 08 16.5 11 30
20711-27-08T M27X1.5 12 08 18.5 11 32
20711-27-10 M27X1.5 16 10 21.5 11 32
20711-27-12 M27X1.5 20 12 21.5 11 32
20711-30-10T M30X1.5 16 10 18.5 11 36
20711-30-12 M30X1.5 20 12 21.5 11 36
20711-33-10T M33X2 16 10 20 13 41
20711-33-12T M33X2 20 12 20 13 41
20711-33-14 M33X2 22 14 21.5 13 41
20711-33-16 M33X2 25 16 23 13 41
20711-36-12T M36X2 20 12 20 14 41
20711-36-14T M36X2 22 14 20 14 41
20711-36-16 M36X2 25 16 23 14 41
20711-39-16T M39X2 25 16 23.5 14 46
20711-42-16T M42X2 25 16 23.5 15 50
20711-42-20 M42X2 32 20 26 15 50
20711-45-20T M45X2 32 20 25 15 55
20711-52-24T M52X2 40 24 25 17 60
20711-60-32 M60X2 50 32 27 20 70
20711-64-32T M64X2 50 32 26 23 75

Note:

1. For use with braided hoses.

2. If use with spiral hose, hose fitting series number is 20712-x x-x x

-19 -



NINGBO EASTERN FLUID CONNECTOR MACHINERY FACTORY

20741
45° ERRABIPIIRL 74°ISEH

REF.GB/T 9065.1

45° GB METRIC FEMALE 74° CONE SEAT

K5 12 E #®E HOSE BORE R~ DIMENSIONS

P/N THREAD E AFRA1E DN | #x5 DASH A C H 2
20741-14-04 M14X1.5 6 04 40.5 8.5 18.5 19
20741-16-05 M16X1.5 8 05 444 8 20 22
20741-18-06 M18X1.5 10 06 457 10 21.4 24
20741-22-08 M22X1.5 12 08 58.9 10 24 27
20741-27-10 M27X1.5 16 10 71.2 11 26.4 32
20741-30-12 M30X1.5 20 12 78.1 11 30 36
20741-33-12 M33X2 20 12 77.4 13 30 41
20741-33-16 M33X2 25 16 85 13 30.8 41
20741-36-14 M36X2 22 14 79.8 14 29.6 41
20741-36-16 M36X2 25 16 85.7 14 31.5 41
20741-39-16 M39X2 25 16 86.1 14 31.8 46
20741-45-20 M45X2 32 20 97 15 36.2 55
20741-52-24 M52X2 40 24 112.9 17 40.9 60

Note: 1. For use with braided hoses.

2. If use with spiral hose, hose fitting series number is 20742-x x-x x




NINGBO EASTERN FLUID CONNECTOR MACHINERY FACTORY

20791
90° EHRAHIPURN 74°IHEH
90° GB METRIC FEMALE 74° CONE SEAT

REF.GB/T 9065.1

2. If use with spiral hose, hose fitting series number is 20792-x x - x x

(A=) LA S & HOSE BORE R~ DIMENSIONS

P/N THREAD E 2FRAE DN | 178 DASH A C H S2
20791-12-04C M12X1.25 6 04 30 9 33.5 17
20791-12-04 M12X1.5 6 04 30 10 33.5 17
20791-14-04 M14X1.5 6 04 30 8.5 34 19
20791-16-04 M16X1.5 6 04 30 8 35 22
20791-16-05 M16X1.5 8 05 34 8 38 22
20791-18-06 M18X1.5 10 06 35.3 10 41.3 24
20791-22-08 M22X1.5 12 08 41 10 48 27
20791-22-10 M22X1.5 16 10 56.5 10 52.5 27
20791-22-12 M22X1.5 20 12 65.5 10 62 27
20791-30-12 M30X1.5 20 12 66.2 11 63.5 36
20791-33-12 M33X2 20 12 65.5 13 63.5 41
20791-33-16 M33X2 25 16 76.7 13 69 41
20791-36-12 M36X2 20 12 65.5 14 63.5 41
20791-36-14 M36X2 22 14 71.2 14 64.5 41
20791-39-16 M39X2 25 16 76.7 14 70.5 46
20791-45-20 M45X2 32 20 91.5 15 83 55
20791-52-20 M52X2 32 20 93 17 84.5 60
20791-52-24 M52X2 40 24 110.7 17 96.5 60

Note: 1. For use with braided hoses.

-21 -



NINGBO EASTERN FLUID CONNECTOR MACHINERY FACTORY

s 10811L
S ey NSNS 0T
90°( >4 :
: i METRIC MALE 90° CONE SEAT

RS 1B E ;& HOSE BORE R~ DIMENSIONS

P/N THREADE | BRI DN | #52 DASH | A c a1 | <
10811L-12-04 M12X1.25 6 04 46 34 17 17
10811L-12-04A M12X1 6 04 445 325 17 17
10811L-14-04 M14X1.5 6 04 46 34 17 19
10811L-14-06 M14X1.5 10 06 46.5 34 17 19
10811L-16-04 M16X1.5 6 04 46.5 34 19 22
10811L-16-06 M16X1.5 10 06 46.5 34 22 22
10811L-20-06 M20X1.5 10 06 57 40 27 27
10811L-20-08 M20X1.5 12 08 57.5 40 27 27
10811L-22-08 M22X1.5 12 08 62.5 45 27 27

Note: 1. For use with braided hoses.

2. If use with spiral hose, hose fitting series number is 10811L-x x-x x

-22 -



NINGBO EASTERN FLUID CONNECTOR MACHINERY FACTORY

Lo ]

10411
NEHIGNELY 24° REER R

METRIC MALE 24° CONE SEAT L.T.

ISO 8434-1-DIN 3861

2. If use with spiral hose, hose fitting series number is 10412-x x-x x

K5 2y E & HOSE BORE BEFIMZ R DIMENSIONS

P/N THREAD E AFRAFE DN | 75 DASH | TUBE O.D A C s1
10411-12-04 M12X1.5 6 04 6 20.5 10 12
10411-14-04 M14X1.5 6 04 8 20.5 10 14
10411-14-05 M14X1.5 8 05 8 21.5 10 14
10411-16-04 M16X1.5 6 04 10 22.5 11 17
10411-16-05 M16X1.5 8 05 10 22.5 11 17
10411-16-06 M16X1.5 10 06 10 22.5 11 17
10411-16-08 M16X1.5 12 08 10 22 11 19
10411-18-05 M18X1.5 8 05 12 23.5 11 19
10411-18-06 M18X1.5 10 06 12 215 11 19
10411-22-06 M22X1.5 10 06 15 24.5 12 24
10411-22-08 M22X1.5 12 08 15 26 12 24
10411-26-08 M26X1.5 12 08 18 26.5 12 27
10411-26-10 M26X1.5 16 10 18 27 12 27
10411-30-08 M30X2 12 08 22 28 14 32

Note: 1. For use with braided hoses.

-23-




(2%

NINGBO EASTERN FLUID CONNECTOR MACHINERY FACTORY

NHEIRNBL 24°#EH O FERRERY!

METRIC FEMALE 24° CONE O-RING L.T

ISO 12151-2--DIN 3865

20411 20411T
K5 124y E & HOSEBORE | EFIMZE | OFE R~} DIMENSIONS
P/N THREAD E N | ke TUBE | O RING A c S
DN DASH oD

20411-12-04 M12X1.5 6 04 6 | 4X1.5 26 1 17
20411-14-04 M14X1.5 6 04 8 | 6X15 27.5 2 19
20411-14-06 M14X1.5 10 06 8 | 6XL5 27.5 2 19
20411-16-04 M16X1.5 6 04 10 |7.5X15 |28 2 22
20411-16-05 M16X1.5 8 05 10 |7.5X15 |28 2 22
20411-16-06 M16X1.5 10 06 10 |7.5X15 |28 2 22
20411-18-05T M18X1.5 8 05 12 | 9.5X15 | 275 1.8 22
20411-18-06 M18X1.5 10 06 12 | 9.5X15 |29 2.5 24
20411-22-05T M22X1.5 8 05 15 | 12.0X2.0 |29.5 2.1 27
20411-22-06 M22X1.5 10 06 15 | 12.0X2.0 |31.5 2.5 27
20411-22-06T M22X1.5 10 06 15 | 12.0X2.0 |29 2.5 27
20411-22-08 M22X1.5 12 08 15 | 12.0X2.0 |32 2.5 27
20411-26-10 M26X1.5 16 10 18 | 15.0X2.0 |35 2.5 32
20411-26-12 M26X1.5 20 12 18 | 15.0X2.0 |35 2.5 32
20411-27-10 M27X1.5 16 10 18 | 15.0X2.0 |35 2.5 32
20411-27-12 M27X1.5 20 12 18 | 15.0X2.0 |35 2.5 32
20411-30-10T M30X2 16 10 22 | 20.0X2.0 |35 4 36
20411-30-12 M30X2 20 12 22 | 20.0X2.0 |38 4 36

=24 -




NINGBO EASTERN FLUID CONNECTOR MACHINERY FACTORY

20411-36-14T M36X2 22 14 28 | 26.0X2.0 |36 4 41
20411-36-16 M36X2 25 16 28 | 26.0X2.0 | 395 4 41
20411-36-20 M36X2 32 20 28 | 26.0X2.0 |40 4 41
20411-45-16T M45X2 25 16 35 | 32.0X25 |41 5 55
20411-45-20T M45X2 32 20 35 | 32.0X2.5 |42 5 55
20411-52-20T M52X2 32 20 42 | 38.0X2.5 | 44 5.5 60
20411-52-24T M52X2 40 24 42 | 38.0X2.5 | 44 5.5 60
Note: 1. For use with braided hoses.

2. If use with spiral hose, hose fitting series number is 20412-x x-x x

-25-




NINGBO EASTERN FLUID CONNECTOR MACHINERY FACTORY

A5° N HIRIREY 24°5ET O X RS

45°METRIC FEMALE 24° CONE O-RING L.T

ISO 12151-2--DIN 3865

20441 20441-T

(iR=s 2y E & HOSE BORE BEFIMZR | OFE R~ DIMENSIONS
P/N THREAD E N | ke TUBE | O RING A e ’ .

DN DASH oD

20441-14-04 M14X1.5 6 04 8 |6X15 49 2 27 |19
20441-16-04 M16X1.5 6 04 10 | 7.5X1.5 |494 |2 27.3 | 22
20441-16-06 M16X1.5 10 06 10 |7.5X15 |534 |2 29.2 | 22
20441-18-05T M18X1.5 8 05 12 |95X15 462 |25 [229 |22
20441-18-06 M18X1.5 10 06 12 |95X15 |542 |25 [299 |24
20441-22-05T M22X1.5 8 05 15 |12.0X2.0 |483 |25 |25 |27
20441-22-06T M22X1.5 10 06 15 |12.0X2.0 |504 |25 |[257 |27
20441-22-08 M22X1.5 12 08 15 |12.0X2.0 |681 |25 |[33.2 |27
20441-26-10 M26X1.5 16 10 18 | 15.0X2.0 |80.7 |25 |[359 |32
20441-26-12 M26X1.5 20 12 18 | 15.0%X2.0 |869 |25 [395 |32
20441-27-12 M27X1.5 20 12 18 |15.0%X2.0 |869 |25 [395 |32
20441-30-10T M30X2 16 10 22 |200X20 [751 |4 30.3 | 36
20441-30-12 M30X2 20 12 22 |20.0X2.0 891 |4 417 | 36
20441-36-12T M36X2 20 12 28 | 26.0X2.0 |82 4 339 | 41
20441-36-16 M36X2 25 16 28 | 26.0X2.0 |97 4 428 | 41
20441-52-20T M52X2 32 20 42 |38.0X25 |102.6 |55 |419 |60
20441-52-24T M52X2 40 24 42 |380X25 | 1166 |55 |458 |60

Note:

1. For use with braided hoses.

2. If use with spiral hose, hose fitting series number is 20442-x x - x x

-26 -




NINGBO EASTERN FLUID CONNECTOR MACHINERY FACTORY

.

W 7z 90 HIPIRLY 24°4%5 O THBR RS

i r 90°METRIC FEMALE 24° CONE O-RING L.T
De
:Ej [SO 12151-2--DIN 3865
24"
20491 20491-T
(= ey E WE HOSEBORE | &FIMZR | OE R~ DIMENSIONS
P/N THREADE | \Rp2 | 1= TUBE | ORING A lc y .
DN DASH OD

20491-12-03 M12X1.5 5 03 6 | 4.0XL5 26.5 1 41.5 17
20491-12-04 M12X1.5 6 04 6 |4.0X15 30 1 44.5 17
20491-14-04 M14X1.5 6 04 8 | 6.0XL5 30 2 46 19
20491-16-04 M16X1.5 6 04 10 |7.5X1.5 30 2 46.5 22
20491-16-05 M16X1.5 8 05 10 | 7.5X1.5 33 2 49.5 22
20491-16-06 M16X1.5 10 06 10 |7.5X1.5 35.3 2 51.8 22
20491-18-05T | M18X1.5 8 05 12 | 9.5X1.5 33 2.5 42 22
20491-18-06 M18X1.5 10 06 12 | 9.5X1.5 35.3 2.5 53.3 24
20491-22-05T | M22X1.5 8 05 15 |12.0X20 | 33 2.5 45 27
20491-22-06T | M22X1.5 10 06 15 |12.0X2.0 | 353 2.5 47.3 27
20491-22-08 M22X1.5 12 08 15 [12.0X20 | 41 2.5 61 27
20491-22-12 M22X1.5 20 12 15 |12.0X2.0 | 65.5 2.5 75 27
20491-26-10 M26X1.5 16 10 18 |15.0X2.0 | 56.5 2.5 67.5 32
20491-26-12 M26X1.5 20 12 18 |15.0X2.0 | 65.5 2.5 77 32
20491-27-10 M27X1.5 16 10 18 |15.0X2.0 | 56.5 2.5 67.5 32
20491-27-12 M27X1.5 20 12 18 |15.0X2.0 | 65.5 2.5 77 32
20491-30-16 M30X2 25 16 22 | 15.0X2.0 | 767 4 86.5 36

-27-




NINGBO EASTERN FLUID CONNECTOR MACHINERY FACTORY

20491-30-08T M30X2 12 08 22 | 20.0X2.0 41 4 55 36
20491-30-10T M30X2 16 10 22 | 20.0X2.0 | 56.5 4 57.2 36
20491-30-12 M30X2 20 12 22 | 20.0X2.0 | 655 4 80 36
20491-36-12T M36X2 20 12 28 | 26.0X2.0 | 655 4 69 41
20491-36-14T M36X2 22 14 28 |26.0X2.0 | 712 4 70 41
20491-36-16 M36X2 25 16 28 | 26.0X2.0 | 76.7 4 86 41
20491-45-16T M45X2 25 16 35 | 32.0X25 | 76.7 5 75 55
20491-45-20T M45X2 32 20 35 |32.0X25 | 915 5 88.5 55
20491-52-20T M52X2 32 20 42 | 38.0X2.5 93 55 87 60
20491-52-24T7 M52X2 40 24 42 | 38.0X2.5 | 1094 55 103.5 60

Note: 1. For use with braided hoses.

2. If use with spiral hose, hose fitting series number is 20492-x x - x x

-28 -




NINGBO EASTERN FLUID CONNECTOR MACHINERY FACTORY

RHIRIREL 24°

i O IEEERY!

METRIC FEMALE 24° CONE O-RING H.T

'U[[HHDLD} ISO 12151-2--DIN 3865

20511 20511-T
(= ey E WE HOSEBORE | &FIMZR | OE R~ DIMENSIONS
P/N THREADE | \Rp2 | 1= TUBE | ORING A c .
DN DASH OD

20511-16-04 M16X1.5 6 04 8 | 6.0XL5 29 1.5 22
20511-16-05 M16X1.5 8 05 8 | 6.0XL5 29 1.5 22
20511-18-04T M18X1.5 6 04 10 | 7.5X1.5 26.5 2 22
20511-18-06 M18X1.5 10 06 10 | 7.5X1.5 29 2 24
20511-20-04T M20X1.5 6 04 12 | 9.5X1.5 28.5 2.5 24
20511-20-05T M20X1.5 8 05 12 | 9.5X1.5 28.5 2.5 24
20511-20-06T M20X1.5 10 06 12 | 9.5X1.5 28.5 2.5 24
20511-20-08 M20X1.5 12 08 12 | 9.5X1.5 315 2.5 27
20511-22-06T M22X1.5 10 06 14 |10.0X2.0 | 285 2.5 27
20511-22-08 M22X1.5 12 08 14 |10.0X2.0 | 315 2.5 27
20511-24-06T M24X1.5 10 06 16 |12.0X2.0 | 285 2.5 30
20511-24-08T M24X1.5 12 08 16 |12.0X2.0 30 3 30
20511-30-08T M30X2 12 08 20 |16.3X24 35 3 36
20511-30-10T M30X2 16 10 20 |16.3X24 36 3 36
20511-30-12 M30X2 20 12 20 |16.3X24 39 3 36
20511-30-14 M30X2 22 14 20 |16.3X2.4 39 3 36
20511-36-12T M36X2 20 12 25 | 20.3X2.4 36 3 41

-29 -




NINGBO EASTERN FLUID CONNECTOR MACHINERY FACTORY

20511-36-14T M36X2 22 14 25 |20.3X24 36 3 41
20511-36-16 M36X2 25 16 25 |20.3X24 40.5 3 41
20511-42-12T7 M42X2 20 12 30 | 25.3X24 40 5 50
20511-42-16T M42X2 25 16 30 | 25.3X24 41 5 50
20511-42-20 M42X2 32 20 30 | 25.3X24 46 5 50
20511-52-20T M52X2 32 20 38 | 33.3X24 44 6.5 60
20511-52-24T M52X2 40 24 38 | 33.3X24 44 6.5 60

Note: 1. For use with braided hoses.

2. If use with spiral hose, hose fitting series number is 20512-x x-x x

45° NHIPRIBEY 24°4 O BIEZA|

45° METRIC FEMALE 24° CONE O-RING H.T

ISO 12151-2--DIN 3865

20541 2054171
(A= 124y E ®E HOSEBORE | EF4ME | OFE R} DIMENSIONS
P/N THREADE | M\RAR | 1= TUBE | ORING A c ’ .
DN DASH oD

20541-16-04 M16X1.5 6 04 8 | 6.0XL5 50.4 1.5 283 22
20541-16-05 M16X1.5 8 05 8 | 6.0XL5 52.2 1.5 28.9 22
20541-18-04T M18X1.5 6 04 10 |7.5X15 | 434 2 21.3 22
20541-18-06 M18X1.5 10 06 10 |7.5X1.5 54.3 2 29.6 24
20541-20-04T M20X1.5 6 04 12 [9.0X1.5 | 455 2.5 234 24
20541-20-05T M20X1.5 8 05 12 [9.0X15 | 481 | 25 243 24

-30-




NINGBO EASTERN FLUID CONNECTOR MACHINERY FACTORY

20541-20-06T M20X1.5 10 06 12 | 9.0X1.5 49.7 25 25 24
20541-20-08 M20X1.5 12 08 12 | 9.0X1.5 67.8 25 32.8 27
20541-22-06T M22X1.5 10 06 14 | 10.0X2.0 | 49.6 25 253 27
20541-22-08 M22X1.5 12 08 14 | 10.0X2.0 | 68.1 25 33.2 27
20541-24-08T M24X1.5 12 08 16 | 12.0X2.0 | 62.5 3 27.5 30
20541-24-10 M24X1.5 16 10 16 | 12.0X2.0 | 80.7 2.5 35.9 30
20541-30-10T M30X2 16 10 20 |16.3X24 | 7538 3 31 36
20541-30-12 M30X2 20 12 20 |16.3X24 | 905 3 424 36
20541-36-12T M36X2 20 12 25 ]203X24 | 827 3 34.6 41
20541-36-14T M36X2 22 14 25 | 203X24 | 844 3 34 41
20541-36-16 M36X2 25 16 25 ]203X24 | 99.7 3 44.2 41
20541-42-16T M42X2 25 16 30 |253X24 | 923 5 36.8 50
20541-42-20 M42X2 32 20 30 | 25.3X24 | 110.8 5 50 50
20541-52-20T M52X2 32 20 38 |33.3X24 | 1034 6.5 41.2 60
20541-52-24T7 M52X2 40 24 38 |33.3X24 | 1159 6.5 45.1 60

Note: 1. For use with braided hoses.

2. If use with spiral hose, hose fitting series number is 20542-x x - x x

-31-




NINGBO EASTERN FLUID CONNECTOR MACHINERY FACTORY

90° ATHIRIRLL 24°

i O JLBE RS

90° METRIC FEMALE 24° CONE O-RING H.T

ISO 12151-2--DIN 3865

20591T
= 9y E & HOSEBORE | EFIME | OFE R~ DIMENSIONS
P/N THREADE | \RpR | 1= TUBE | ORING A c ’ .
DN DASH oD
20591-16-04 M16X1.5 6 04 8 | 6.5XL5 30 1.5 48 22
20591-16-05 M16X1.5 8 05 8 | 6.5XL5 33 1.5 51 22
20591-18-04T M18X1.5 6 04 10 |8.5X1.5 30 2 39.5 22
20591-18-05T M18X1.5 8 05 10 |8.5X1.5 33 2 41.5 22
20591-18-06 M18X1.5 10 06 10 |8.5X1.5 35.3 2 52.8 24
20591-20-04T M20X1.5 6 04 12 [10.5X15 | 30 2.5 41 24
20591-20-05T M20X1.5 8 05 12 |10.5X15 | 335 2.5 44 24
20591-20-06T M20X1.5 10 06 12 |10.5X15 | 358 | 25 46.3 24
20591-20-08 M20X1.5 12 08 12 | 10.5X1.5 | 41 2.5 61 27
20591-22-06T M22X1.5 10 06 14 |12.0X2.0 | 353 2.5 46.8 27
20591-22-08 M22X1.5 12 08 14 [ 12.0X20 | 41 2.5 61 27
20591-24-06T M24X1.5 10 06 16 |13.0X2.0 | 353 3 46.3 30
20591-24-08T M24X1.5 12 08 16 |13.0x20 | 41 3 53 30
20591-24-10 M24X1.5 16 10 16 |13.0X2.0 | 56.5 2.5 67.5 30
20591-30-10T M30X2 16 10 20 |16.3X24 | 565 3 60.5 36
20591-30-12 M30X2 20 12 20 |16.3X24 | 655 3 81 36
20591-36-12T M36X2 20 12 25 |20.3X24 | 66.2 3 70 41
20591-36-14T M36X2 22 14 25 |20.3%X24 | 712 3 71 41

-32-




NINGBO EASTERN FLUID CONNECTOR MACHINERY FACTORY

20591-42-16T M42X2 25 16 30 | 25.3X24 78 5 77.5 50
20591-42-20 M42X2 32 20 30 | 25.3X24 | 915 5 101.5 50
20591-52-20T M52X2 32 20 38 | 33.3X24 93 6.5 89 60
20591-52-24T M52X2 40 24 38 | 33.3X24 | 1094 6.5 102.5 60

Note:

2. If use with spiral hose, hose fitting series number is 20592-x x - x x

1. For use with braided hoses.

PHIPIRE 24 BKER RS

METRIC FEMALE 24°MULTISEAL L.T

ISO 12151-2--DIN 3865

20411C 20411C-T
() #2457 E | & HOSEBORE |&FIMR | OFE R~ DIMENSIONS
P/N THREADE | sRI2 | 72 TUBE | O RING A c .
DN DASH | OD

20411C-12-04 | MI12X15 6 04 6 19.5 35 17
20411C-14-04 | MI4X15 6 04 8 20.5 35 19
20411C-16-04 | MI16X1.5 6 04 10 21 35 22
20411C-16-05 | MI16XL.5 8 05 10 21 35 22
20411C-16-06 | M16X1.5 10 06 10 21 35 22
20411C-18-06 | M18X1.5 10 06 12 225 3 24
20411C-22-06 | M22X1.5 10 06 15 235 4.5 27
20411C-22-08 | M22X15 12 08 15 24 4.5 27
20411C-26-10 | M26X1.5 16 10 18 27 4 32
20411C-30-10 | M30X2 16 10 22 26.5 7 36
20411C-30-12 | M30X2 20 12 22 27 7 36
20411C-30-14 | M30X2 22 14 22 27 7 36
20411C-36-16 | M36X2 25 16 28 29 6.5 41

-33-




NINGBO EASTERN FLUID CONNECTOR MACHINERY FACTORY

20411C-36-18 M36X2 28 18 28 29 6.5 41
20411C-45-20 M45X2 32 20 35 33 7 55
20411C-52-24 M52X2 40 24 42 34 8 60

Note:

1. For use with braided hoses.

2. If use with spiral hose, hose fitting series number is 20412C-x x-x x

-~

ISO 12151-2--DIN 3865

90° HIMERN 24 IKERE RS

90° METRIC FEMALE 24°MULTISEAL L.T

20491C 20491C-T
K& 12 E #E& HOSEBORE | &F4MZ | OFE R} DIMENSIONS
P/N THREADE | \\RpR | 1= TUBE | ORING A c ’ o
DN DASH 0D

20491C-14-04 | M14X1.5 6 04 8 30 3.5 39.5 19
20491C-16-04 | M16X1.5 6 04 10 30 35 40 22
20491C-16-05 | M16X1.5 8 05 10 33 35 43 22
20491C-16-06 | M16X1.5 10 06 10 3525 | 35 452 22
20491C-18-06 | M18X1.5 10 06 12 35.25 3 4725 | 24
20491C-22-08 | M22X1.5 12 08 15 41 45 53 27
20491C-26-10 | M26X1.5 16 10 18 56.5 4 60 32
20491C-30-12 | M30X2 20 12 22 65.5 7 68.5 36
20491C-30-14 | M30X2 22 14 22 71.2 7 70 36
20491C-36-12 | M36X2 20 12 28 65.5 6.5 67.5 41
20491C-36-18 | M36X2 28 18 28 87.9 6.5 86.5 41

Note:

2. If use with spiral hose, hose fitting series number is 20412C-x x-x x

1. For use with braided hoses.

-34 -




NINGBO EASTERN FLUID CONNECTOR MACHINERY FACTORY

ANHIPIRE 24 BKEEZR

ISO 12151-2--DIN 3865

METRIC FEMALE 24°MULTISEAL H.T

20511C 20511C-T
= 9y E & HOSEBORE | EFIME | OFE R~ DIMENSIONS
P/N THREADE | \RpR | 1= TUBE | ORING A c .
DN DASH oD

20511C-18-04 | M18X1.5 6 04 10 21 3 22
20511C-20-05 | M20X1.5 8 05 12 21.5 45 24
20511C-20-06 | M20X1.5 10 06 12 21.5 45 24
20511C-22-06 | M22X1.5 10 06 14 21.5 45 27
20511C-24-08 | M24X1.5 12 08 16 23 5 30
20511C-30-10 | M30X2 16 10 20 26.5 7 36
20511C-30-12 | M30X2 20 12 20 27.5 7 36
20511C-36-12 | M36X2 20 12 25 27 6.5 41
20511C-42-16 | M42X2 25 16 30 29.5 9 50
20511C-52-20 | M52X2 32 20 38 34 8 60

Note: 1. For use with braided hoses.

2. If use with spiral hose, hose fitting series number is 20512C-x x-x x

-35-




NINGBO EASTERN FLUID CONNECTOR MACHINERY FACTORY

45° NHIIREL 24 TREE RS

ISO 12151-2--DIN 3865

45° METRIC FEMALE 24°MULTISEAL H.T

20541C 20541C-T
R=; 1By E & HOSEBORE | BFIMR | OFE R~ DIMENSIONS
P/N THREAD E LNFRAAR —= TUBE O RING
NN iN=3 A C Y S
DN DASH O.D
20541C-16-04 M16X1.5 6 04 8 448 3 22.7 19
20541C-18-04 M18X1.5 6 04 10 437 3 21.6 22
20541C-20-06 M20X1.5 10 06 12 489 45 24.6 24
20541C-24-08 M24X1.5 12 08 16 61.4 25 26.5 30
Note: 1. For use with braided hoses.
2. If use with spiral hose, hose fitting series number is 20542C-x x-x x
20011
NHIRIESESFEKE

METRIC FEMALE WATERWASH INSERT

(A=) #2457 E | & HOSEBORE | &FIMZ | OWE R DIMENSIONS
P/N THREADE | NR942 | 15 TUBE | ORING A g 5
DN DASH | OD
20011-22-04T | M22X15 6 04 28 14 | 34
20011-22-05T | M22X1.5 8 05 27.9 14 | 34
20011-22-06T | M22X15 10 06 28 14 | 34,

-36 -




NING

BO EASTERN FLUID CONNECTOR MACHINERY FACTORY

A :

18611

i |

]]I[I[I]]]]]]]Jﬂ AAABIIMEL 60° PR

LI

51

JIS METRIC MALE 60° CONE SEAT

(A=) #2457 E | & HOSEBORE | &FIMZ | OWE R~ DIMENSIONS
P/N THREADE | \Rp2 | 1= TUBE | ORING A c o1
DN DASH O.D

18611-14-04 M14X1.5 6 04 29.5 17 17
18611-14-06 M14X1.5 10 06 29.5 17 17
18611-16-04 M16X1.5 6 04 30.5 18 17
18611-16-06 M16X1.5 10 06 30.5 18 17
18611-18-06 M18X1.5 10 06 30.5 18 19
18611-20-08 M20X1.5 12 08 35 20 22
18611-22-08 M22X1.5 12 08 35 20 24
18611-24-10 M24X1.5 16 10 39.5 | 215 27
18611-30-12 M30X1.5 20 12 45 26 32
18611-33-16 M33X1.5 25 16 50.5 30 36
18611-36-20 M36X1.5 32 20 55 33 38
18611-42-24 M42X1.5 40 24 60 36 46
Note: 1. For use with braided hoses.

2. If use with spiral hose, hose fitting series number is 18612-x x-x x

-37-




NINGBO EASTERN FLUID CONNECTOR MACHINERY FACTORY

28611

BALXHIRIRL 60° R

JIS METRIC FEMALE 60° CONE SEAT

(A=) #2457 E | #& HOSEBORE | &FIMZ | OWE R~ DIMENSIONS
P/N THREADE | R4 | 15 TUBE | ORING A c s |5
DN DASH | OD

28611-14-04 | M14XL5 6 04 21 105 | 19 19
28611-14-06 | M14XL5 10 06 21 105 | 19 19
28611-16-04 | MI16XL5 6 04 24 10 22 22
28611-16-06 | MI16X15 10 06 24 10 22 22
28611-18-06 | MI8XLS5 10 06 25 115 24 | 24
28611-20-08 | M20X1.5 12 08 28.5 12 27 27
28611-22-08 | M22XL5 12 08 25.5 14 27 27
28611-24-10 | M24XL5 16 10 285 | 15 32 32
28611-30-12 | MB30XL5 20 12 28.5 183 | 36 36
28611-33-16 | M33X15 25 16 32 213 | 41 | 4
28611-36-20 | M36X15 32 20 35.5 20 46 | 46
28611-42-24 | MA42X15 40 24 36 | 188 | 55 55

Note: 1. For use with braided hoses.

2. If use with spiral hose, hose fitting series number is 28612-x x -x x

-38 -




NINGBO EASTERN FLUID CONNECTOR MACHINERY FACTORY

28641

45° BALHIRRL 60° HEH

45° JIS METRIC FEMALE 60° CONE SEAT

(A=) #2457 E | #& HOSEBORE | &FIMZ | OWE R~ DIMENSIONS
P/N THREADE | R4 | 15 TUBE | ORING A c s |5
DN DASH | OD

28641-14-04 | M14XL5 6 04 21 10.5 19 19
28641-14-06 | M14XL5 10 06 21 10.5 19 19
28641-16-04 | MI16XL5 6 04 24 10 22 22
28641-16-06 | MI16X1.5 10 06 24 10 22 22
28641-18-06 | MI8XLS5 10 06 25 115 24 | 24
28641-20-08 | M20X1.5 12 08 28.5 12 27 27
28641-22-08 | M22XL5 12 08 25.5 14 27 27
28641-24-10 | M24XL5 16 10 285 | 15 32 32
28641-30-12 | MB30XL5 20 12 285 | 183 36 36
28641-33-16 | M33X15 25 16 32 213 41 | 41
28641-36-20 | M36X1.5 32 20 35.5 20 46 | 46
28641-42-24 | MA42X15 40 24 36 | 188 55 55

Note: 1. For use with braided hoses.

2. If use with spiral hose, hose fitting series number is 28612-x x -x x

-39 -




NINGBO EASTERN FLUID CONNECTOR MACHINERY FACTORY

28691

90° BALFIRIRL 60° P

90° JIS METRIC FEMALE 60° CONE SEAT

S 1Ry E W& HOSEBORE | &F/MZ R~ DIMENSIONS
P/N THREAD E NFRAR = TUBE A c H s1 S
DN DASH Oo.D

28641-14-04 M14X1.5 6 04 30 10.5 38 19 19
28641-14-06 M14X1.5 10 06 355 10.5 433 19 19
28641-16-05 M16X1.5 8 05 33 10 44 22 22
28641-18-06 M18X1.5 10 06 353 11.5 46.3 24 24
28641-22-08 M22X1.5 12 08 41 14 52.5 27 27
28641-24-10 M24X1.5 16 10 56.5 15 59 32 32
28641-30-12 M30X1.5 20 12 65.5 183 68.5 36 36
28641-33-16 M33X1.5 25 16 76.7 213 76 41 41
28641-36-20 M36X1.5 32 20 93 20 90 46 46
28641-42-24 M42X1.5 40 24 109.4 18.8 103 55 55
Note: 1. For use with braided hoses.

2. If use with spiral hose, hose fitting series number is 28692-x x - x x

-40 -




NINGBO EASTERN FLUID CONNECTOR MACHINERY FACTORY

e

e 70011
7 T Bl

METRIC BANJO DIN 7642

(= 12 E & HOSEBORE | &FIME R~} DIMENSIONS
P/N THREADE | \RpR | 1= TUBE A g 5 ’
DN DASH oD

70011-12-04 M12X1.5 6 04 20.5 12 20 12
70011-12-05 M12X1.5 8 05 20.5 12 20 12
70011-12-06 M12X1.5 10 06 20.5 12 20 12
70011-14-04 M14X1.5 6 04 21 14 24 14
70011-14-05 M14X1.5 8 05 21 14 24 14
70011-14-06 M14X1.5 10 06 21 14 24 14
70011-16-04 M16X1.5 6 04 20.5 16 28 16
70011-16-05 M16X1.5 8 05 20.5 16 28 16
70011-16-06 M16X1.5 10 06 20.5 16 28 16
70011-18-06 M18X1.5 10 06 24 18 32 20
70011-18-08 M18X1.5 12 08 24.5 18 32 20
70011-22-08 M22X1.5 12 08 28.5 22 39 25
70011-22-10 M22X1.5 16 10 28 22 39 25
70011-26-12 M26X1.5 20 12 325 26.2 46 30
70011-30-16 M30X1.5 25 16 37 30.2 54 36
70011-30-20 M30X1.5 32 20 40 30.2 54 36

Note: 1. For use with braided hoses.

2. If use with spiral hose, hose fitting series number is 70012-x x - x x

-4] -




NINGBO EASTERN FLUID CONNECTOR MACHINERY FACTORY

G

e

S /I;{%J

700M

NHIBERE

METRIC BOLT DIN 7643

(= 1By E & HOSEBORE | &FHMR R~} DIMENSIONS
P/N THREADE | R e TUBE A 5 c o1
DN DASH oD

700M-12 M12X1.5 24 6 6 17
700M-14 M14X1.5 26 8 7 19
700M-16 M16X1.5 28 9 7.5 22
700M-18 M18X1.5 32 11 8 24
700M-22 M22X1.5 39 14 9 27
700M-26 M26X1.5 45 18 10 | 32
700M-30 M30X1.5 51 22 11 | 38

-42 -




NINGBO EASTERN FLUID CONNECTOR MACHINERY FACTORY

-

////f//f/;lrl

E—

—

50011

NHNFEREE

METRIC STANDPIPE STRAIGHT DIN 2553

= 26y E )& HOSE BORE R~ DIMENSIONS £ =
P/N THREAD E AFRAE DN | 455 DASH A C NOTE
50011-06-03 6 05 03 28.5 22
50011-06-04 6 6 04 29 22
50011-10-05 10 8 05 31 23
50011-10-06 10 10 06 32 23
50011-12-06 12 10 06 335 23
50011-12-08 12 12 08 33 23
50011-15-06 15 10 06 35.5 25
50011-15-08 15 12 08 35.5 25 T
50011-18-08 18 12 08 36.5 26
50011-18-10 18 16 10 41 26
50011-22-10 22 16 10 44 28
50011-22-12 22 20 12 44 28
50011-22-16 22 25 16 46 28
50011-28-16 28 25 16 47 30
50011-35-20 35 32 20 56 36
50011-42-24 42 40 24 62 40
50011-08-04 8 6 04 31 24 o
50011-08-05 8 8 05 33 24
50011-08-06 8 10 06 33 24
50011-10-04 10 6 04 35 26
50011-12-04 12 06 04 345 26
50011-12-05 12 8 05 35.5 26

-43 -



NINGBO EASTERN FLUID CONNECTOR MACHINERY FACTORY

50011-14-06 14 10 06 39.5 29
50011-14-08 14 12 08 40 29
50011-14-12 14 20 12 45.5 29
50011-16-08 16 12 08 41 30
50011-16-10 16 16 10 45.5 30
50011-20-10 20 16 10 52.5 36
50011-20-12 20 20 12 52.5 36
50011-25-12 25 20 12 56 40
50011-25-16 25 25 16 57 40
50011-30-16 30 25 16 63 44
50011-30-20 30 32 20 64 44
50011-38-16 38 25 16 69 50
50011-38-20 38 32 20 70 50
Note: 1. For use with braided hoses.
2. If use with spiral hose, hose fitting series number is 50012-x x - x x
50041
45" NHIHFEREE
45° METRIC STANDPIPE STRAIGHT DIN 2553

= 1R’y E }E&E HOSE BORE R~ DIMENSIONS &g *

P/N THREAD E NFRA1R DN =2 DASH A C H NOTE
50041-06-03 6 05 03 47.8 22 | 275 ol
50041-06-04 6 6 04 52.5 22 |30.1
50041-10-05 10 8 05 54 23 | 30.6
50041-10-06 10 10 06 56.1 23 | 313
50041-12-06 12 10 06 58.5 23 | 345
50041-12-08 12 12 08 724 23 | 374

-44 -



NINGBO EASTERN FLUID CONNECTOR MACHINERY FACTORY

50041-15-06 15 10 06 59.3 25 |345
50041-15-08 15 12 08 70.6 25 |35.7
50041-18-08 18 12 08 734 26 | 385
50041-18-10 18 16 10 84.6 26 |39.8
50041-22-10 22 16 10 87.1 28 | 423
50041-22-12 22 20 12 93.3 28 | 459
50041-22-16 22 25 16 100.9 28 |46.7
50041-28-16 28 25 16 103.7 30 | 495
50041-35-20 35 32 20 118.5 36 |57.8
50041-08-04 8 6 04 53.6 24 | 315
50041-10-04 10 6 04 54 26 | 319
50041-12-04 12 06 04 57.1 26 |35.1
50041-12-05 12 8 05 59.2 26 |35.9
50041-14-06 14 10 06 61.6 29 |373
50041-14-08 14 12 08 73.8 29 | 388
50041-14-12 14 20 12 91.9 29 |438
50041-16-08 16 12 08 76.6 30 | 417
50041-16-10 16 16 10 87.8 30 |43 H.T
50041-20-10 20 16 10 92.8 36 |48
50041-20-12 20 20 12 100.7 36 | 526
50041-25-12 25 20 12 101.8 40 | 544
50041-25-16 25 25 16 109.4 40 | 552
50041-30-16 30 25 16 113.6 44 | 594
50041-30-20 30 32 20 124.2 44 | 635
50041-38-16 38 25 16 117.9 50 | 63.6
50041-38-20 38 32 20 1284 50 |67.7

Note: 1. For use with braided hoses.

2. If use with spiral hose, hose fitting series number is 50042-x x - x x

-45 -



NINGBO EASTERN FLUID CONNECTOR MACHINERY FACTORY

50091
90° RHEINFEXEE

90° METRIC STANDPIPE STRAIGHT DIN 2553

= ey E e HOSE BORE R~ DIMENSIONS & i

P/N THREADE | A\FRW#2 DN | #Rx5S DASH A C H NOTE
50091-06-03 6 05 03 26.5 22 45
50091-06-04 6 6 04 30 22 48
50091-10-05 10 8 05 34 23 53
50091-10-06 10 10 06 35.3 23 55.3
50091-12-06 12 10 06 35.3 23 59.8
50091-12-08 12 12 08 41 23 67
50091-15-06 15 10 06 35.8 25 59.8
50091-15-08 15 12 08 41 25 65 LT
50091-18-08 18 12 08 41 26 68.5
50091-18-10 18 16 10 56.5 26 73
50091-22-10 22 16 10 56.5 28 76.5
50091-22-12 22 20 12 65.5 28 86
50091-22-16 22 25 16 76.7 28 91.5
50091-28-16 28 25 16 76.7 30 95.5
50091-35-20 35 32 20 91.5 36 112.5
50091-08-04 8 6 04 30 24 52.5 T
50091-10-04 10 6 04 30 26 53
50091-12-04 12 06 04 30 26 57.5
50091-12-05 12 8 05 33 26 60.5
50091-14-06 14 10 06 35.3 29 63.8
50091-14-08 14 12 08 41 29 69

-46 -



NINGBO EASTERN FLUID CONNECTOR MACHINERY FACTORY

50091-14-12 14 20 12 66.2 29 83
50091-16-08 16 12 08 42 30 73
50091-16-10 16 16 10 56.5 30 77.5
50091-20-10 20 16 10 56.5 36 84.5
50091-20-12 20 20 12 65.5 36 95.5
50091-25-12 25 20 12 65.5 40 98
50091-25-16 25 25 16 76.7 40 103.5
50091-30-16 30 25 16 78 40 109.5
50091-30-20 30 32 20 91.5 44 120.5
50091-38-16 38 25 16 76.7 50 115.5
50091-38-20 38 32 20 91.5 50 126.5
Note: 1. For use with braided hoses.
2. If use with spiral hose, hose fitting series number is 50092- x x - x x

NOTES

The drawings in this catalogue are for reference only, and their dimensions and proportions may be a
little different from those of the real products.

Products included in this catalogue don't refer to all, so if customers are interested in other
products, please don't hesitate to contact our company for further information.

Our company has made much effort to record the correct data in this publication. However,
in order to promote our products, we may make some changes of their size or description, which
haven't been shown yet. We reserve the rights for explanation, but sorry for no further notice to
customer the change of products' design, description or even stop of some products'

manufacture in future.

-47 -



